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4751  |HAN—1—1k EEE | 2018/12/14| £#IRE 2 1 R OEBE =i
4751 [HAN—T—xk ERFAS | 2018/12/14 | £3tiRE 2 2 IEER D ERE i34
4751 |HAN—1—1k EEHE | 2018/12/14| £IRE 2 3 R OEBE =i
4751 [HAN—T—xk ERFAS | 2018/12/14 | £3tiRE 2 4 IfER D ERE i34
4751 |HAN—1—1k EEHE | 2018/12/14| £#IRE 2 5 R OEBE =i
4751 [HAN—T—xk ERFAS | 2018/12/14 | &3tiRE 2 6 IfER D ERE =104
4751 |HAN—1—1k EEE | 2018/12/14| £#IRE 2 7 R OEBE =i
4751 [HAN—T—xk ERFAS | 2018/12/14 | &3tiRE 2 8 IfER D ERE =104
4751 |HAN—T1—1k EEE | 2018/12/14| £#IRE 2 9 R OEBE =i
4751 [HYAN—T—1k ERAS | 2018/12/14 | £3iRE 2 10 IR DR E =104
4751 |HAN—T1—1k EEE | 2018/12/14| £%iRE 2 11 & DFEEE =104
4751 [HYAN—T—1k ERRS | 2018/12/14 | £#IRE 2 12 IR D EEE =104
4751 |HAN—T1—1k EEE | 2018/12/14| £%iRE 3 B E IR =104
4769 |4 oA A—La o) I—FT4T ERFAS | 2018/12/21 | £3tiRE 1 B AOY A =104
4769 |4 I A—aH)I—T47 EEE | 2018/12/21| £#iRE 2 ERICETHEE =104
4769 |4 oA A—1aH)I—FT4T ERFAS | 2018/12/21 | £3tiRE 3 1 IR D EEE =104
4769 |4 I A—arH)IT—T47 EEE | 2018/12/21| £%iRE 3 2 miHE OERE =104
4769 | A A A—1avH)I—FT4T EEAS | 2018/12/21 | £3iRE 3 3 RS D EERE =104
4769 |4 IAA—arH)I—T47 EEE | 2018/12/21| £#iRE 3 4 miHE OERE =103
4769 | A A A—1avH)I—FT4T EEAS | 2018/12/21 | £3iRE 3 5 iSRRI =104
4809 |/35A EEE | 2018/12/19| £%iRE 1 B0 =104
4809 [/35H EELE | 2018/12/19| £%tiR= 2 1 EERDERET =104
4809 |/\ShH LS [ 2018/12/19 [ £HIRE 2 2 EEROERT =102
4809 [/35H EELE | 2018/12/19| £%tiR= 2 3 EERDERET =104
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4928 |/IETFHR—ILTAVTR EEHAE | 2018/12/07| £#IRE 1 6 iR OEEE 2
4928 |/IEFHR—ILTAVIR EEE | 2018/12/07| £%tiRE 1 7 miHE OERE B
4928 |/IETF7HR—ILTAVTR EEHAE | 2018/12/07| £#IRE 1 8 iR OEEE 2
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4958 | ERIIEH ERRS [ 2018/12/20 | £3IRE 1 4 IR 0ERE 2
4958 | RRIIIEH EEE | 2018/12/20 | £%tiR=E 1 5 IiHEOERE B
4958 | ERIIEH ERRS [ 2018/12/20 | £3IRE 1 6 IR 0ERE 2
4958 | RRIIIEH EEE | 2018/12/20 | £%tiR=E 1 7 IiHEOERE B
4958 | ERIIEH ERRS [ 2018/12/20 | £3IRE 1 8 IR 0ERE 2
4958 | RRIIIEH EEE | 2018/12/20 | £%tiR=E 1 9 IiHEOERE B
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4997 |BAXREE EEHAS | 2018/12/21 | £#IRE 2 1 iR 0 EMRIT B
4997 |BAREE ERRS [ 2018/12/21 | £3IRE 2 2 IR 0ERE 2
4997 |BAXREE EEHAS [ 2018/12/21 | £#IRE 2 3 iR 0 EMRIT B
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4997 |HAREZE ERFAS | 2018/12/21 | &3tiE% 2 11 S DERRE =104
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4997 |HAREZE ERFAS | 2018/12/21 | &3tiE% 4 1 EEROERE f=404
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5019  |HHcHREE EERFias | 2018/12/18 | &3tiR% 2 2 iR 0 ERE =104
5019  |HHHE Feiids | 2018/12/18 | £#tiRE 2 3 IR OEBE =i
5019  |HHjcHEEE EaRias | 2018/12/18 | &3tiRx 2 4 IEER D ERE =104
5019  |HHHE Feiids | 2018/12/18 | £#tiRE 2 5 IR OEBE =i
5019  |HHjcHEEE EaRias | 2018/12/18 | &3tiRx 2 6 IEER D ERE =104
5019  |HHHE Feiids | 2018/12/18 | £#tiRE 2 7 R OEBE =i
5019  |HHjcHEEE EaRias | 2018/12/18 | &3tiRx 3 1 EEROERE =104
5019 |HYcHEpE Feiias | 2018/12/18 | £#tiRE 3 2 EEROERE =i
5019  |HHjcHEEE EaRias | 2018/12/18 | &3tiRx 4 1 EEROERE =104
5019 |HYcHEpE Feiids | 2018/12/18 | £#tiRE 5 ERICETIEBE =i
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5724 | 7Y HIERE ERFAS | 2018/12/14 | &3tiRE 1 4 IfER D ERE =104
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6048 |THALIL Dy EEE | 2018/11/27| £%#iRE 2 1 EEROERET =104
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6277 |/kyAHDIH0OY ERFAS | 2018/12/18 | &3tiRE 2 7 IR OEFBE =47
6277  |/RVAHDIEH0OYv EEE | 2018/12/18 | £#iIRE 3 1 EEROERE =i
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6284 |BEI—-IR-E—#H EEE | 2018/12/18 | £%tiRE 1 2 IiHE OERE =104
6284 |HEI—IR-E—#H ERFAE | 2018/12/18 | &3tiRE 1 3 iR 0EFE =104
6284 |BEI— -IR-E—#H EEE | 2018/12/18 | £%tiRE 1 4 miHE OERE =104
6284 |HEI—IR-E—#H ERFAS | 2018/12/18 | &3tiRE 1 5 iR 0EFE =104
6284 |BEI—-IR-E—#H EEE | 2018/12/18 | £%tiRE 1 6 miHE OERE =104
6284 |HEI—IR-E—#H ERFAS | 2018/12/18 | &3tiRE 1 7 iR 0EFE =104
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6316 |FLILE4ERT EEHAS [ 2018/12/20 | £#IRE 1 3 iR D EMRIT B
6316 |FLILEI4ERT ERRS [ 2018/12/20 | £3IRE 1 4 IR 0ERE 2
6316 |FLILE4ERT EEHAS [ 2018/12/20 | £#IRE 1 5 iR 0 EMRIT B
6316 |FLILEI4ERT ERRS [ 2018/12/20 | £3IRE 1 6 IR 0ERE 2
6316 |fLILIEMERT ERAE [ 2018/12/20| £#IRE 2 1 BEEROERE B
6338 |&HKY EEHAE | 2018/12/21| £#IRE 1 B A0V 2
6338 |&HKY ERFAS | 2018/12/21 | &3tiRE 2 1 iR 0 EMRIT B
6338 |&HKY EEHAE | 2018/12/21| £#IRE 2 2 IR 0ERE 2
6338 |&HKY ERFAS | 2018/12/21 | &3tiRE 2 3 iR 0 EMRIT B
6338 |&HKY EEHAE | 2018/12/21| £#IRE 2 4 IR 0ERE 2
6338 |&HKY ERFAS | 2018/12/21 | &3tiRE 2 5 iR 0 EMRIT B
6338 |&HKY EEHAE | 2018/12/21| £#IRE 2 6 IR 0ERE 2
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6387 |HAO EEHAE | 2018/10/16 | £*IRE 3 2 IR OEBE =i
6387 |H.ALo ERFAS | 2018/10/16 | &3tiEE 3 3 iR D ERE =104
6387 |HAa EEHAE | 2018/10/16 | £*IRE 3 4 IR OEBE =i
6387 |H.ALo ERFAS | 2018/10/16 | &3tiRE 3 5 iR D ERE =104
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6387 |H.ALo ERFAS | 2018/10/16 | &3tiRE 3 7 iR 0 ERE =104
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6551  |V+45-yya—3rX RS | 2018/12/25 | £iIRE 2 4 IR OEBE =i
6551  |W+45-yya—3vX ERFAS | 2018/12/25 | &3tiR% 2 5 iR 0 ERE =104
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6551 |v+45-vy)a—3vX ERFAS | 2018/12/25 | &3tiRE 2 7 IEER D ERE =104
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6624 |HMHEH EaRias | 2018/12/18 | &3tiRx 2 2 IEER D ERE =104
6624 |HMEH# Feiids | 2018/12/18 | £#tiRE 2 3 R OEBE =i
6624 |HMHEH FEBFaS | 2018/12/18 | &%tiR= 3 1 BEEROEMFE =104
6624 |HMEH# Faiids | 2018/12/18 | £#tiRE 3 2 EEROERE =i
6624 |HMHEH FEBFaS | 2018/12/18 | &%tiR= 3 3 BEEROEMFE =104
6747 |KIFK—ILTAVF R EEE | 2018/12/18 | £#iIRE 1 1 R OEBE =i
6747 |KIFK—ILT4VP R ERFAS | 2018/12/18 | &3tiRE 1 2 S D ERRE =104
6747 |KIFK—ILTAVF R EEE | 2018/12/18 | £#iIRE 1 3 R OEBE =i
6747 |KIIK—ILT4V9 R ERRS | 2018/12/18 | £3tiRE 1 4 S D EEE =104
6747 |KIFh—ILTA4VT X EEE | 2018/12/18 | £%tiRE 1 5 IiHE OERE =104
6747 |KIFK—ILT4VH R ERRS | 2018/12/18 | £3iRE 1 6 S D EEE =104
6747 |KIFh—ILTA4VT X EEE | 2018/12/18 | £%tiRE 1 7 miHE OERE =104
6747 |KIFK—ILT4VH R ERRS | 2018/12/18 | £3iRE 1 8 S D EEE =104
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9438 |TLT1—TA4 ERFAS | 2018/12/22 | &3tiRE 3 3 IEER D ERE =104
9438 | TLTFA4—7A EEE | 2018/12/22 | £#iRE 3 4 R OEBE =i
9438 |TLT1—T7A4 ERFAS | 2018/12/22 | &3tiRE 3 5 IEER D ERE =104
9438 | TLTFA4—7A EEE | 2018/12/22 | £#iRE 3 6 R OEBE =i
9438 |TLT1—T7A4 ERFAS | 2018/12/22 | &3tiRE 3 7 IfER D ERE =104
9438 | TLTFA4—7A EEE | 2018/12/22 | £#iRE 4 1 EEROERE =i
9470 |ZFHIR—ILTAVT R FEEE | 2018/12/21 | &%tiR=E 1 EREONS =104
9470 |ZFBHR—ILTAVT R EEE | 2018/12/21| £#IRE 2 1 R OEBE =i
9470 |ZFHIR—ILTAVT R ERFAS | 2018/12/21 | &3tiRE 2 2 IfER D ERE =104
9470 |ZFBHR—ILTAVT R EEE | 2018/12/21| £#IRE 2 3 R OEBE =i
9470 |ZFHIR—ILTAVT R ERAS | 2018/12/21 | £#iRE 2 4 IR DR E =104
9470  |FHHR—ILTA4VT R EEE | 2018/12/21| £iRE 2 5 IiHE OERE =104
9470 |ZFHIR—ILTA2T R ERRS | 2018/12/21 | £#iRE 2 6 IR D EEE =104
9470  |FHHR—ILTA1VTR EEE | 2018/12/21| £#iRE 2 7 miHE OERE =104
9470 |ZFHIR—ILTA2T R ERRS | 2018/12/21 | £#iRE 2 8 IR D EEE =104
9470  |FHHR—ILTA1VTR EEE | 2018/12/21| £#iRE 2 9 miHE OERE =104
9470 |EHHR—ILTAVT R EELE | 2018/12/21 | &%tiR=E 3 1 EERDERET =104
9470  |FHHR—ILT1VT R EEE | 2018/12/21| £%iRE 3 2 EEROERET =104
9470 |EHHR—ILTAVT R EELE | 2018/12/21 | &%tiR=E 4 BIRPERDEA -FH-FELE =104
9624 |EX EEE | 2018/12/21| £#iRE 1 B0 =103
9624 |EX EELE | 2018/12/21| £%tiR=E 2 ERICEHTHEE =104
9624 |EX EEE | 2018/12/21| £#iRE 3 1 miHE OERE =104
9624 |EX ERFAS | 2018/12/21 | £3tiRE 3 2 IR D EEE =104
9624 |EX EEE | 2018/12/21| £#iRE 3 3 IiHE OERE =104
9624 |EX ERFAS | 2018/12/21 | £3tiRE 3 4 IR D EEE =104
9624 |EX EEE | 2018/12/21| £%tiRE 3 5 mimE OERBE =104
9624 |EX EEHAE | 2018/12/21| £#IRE 3 6 iR OEEE 2
9624 |EX EEE | 2018/12/21| £%iRE 3 7 mimE OERBE =104
9624 |EX EEHAE | 2018/12/21| £#IRE 3 8 iR OEEE 2
9624 |EX EEE | 2018/12/21| £%iRE 3 9 mimE OERBE =104
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9624 |EX EEHAE | 2018/12/21| £#IRE 3 10 iR OEEE 2
9699 |FELV—IL EEE | 2018/12/19| £%tiRE 1 LAY IT) B
9699 |AELVF—IL EEHE | 2018/12/19| £IRE 2 1 iR OEEE 2
9699 |FELVR—IL EEE | 2018/12/19| £%tiRE 2 2 miHE OERE B
9699 |AELVF—IL EEHAE | 2018/12/19| £IRE 2 3 iR OEEE 2
9699 |FELVR—IL EEE | 2018/12/19| £%tiRE 2 4 miHE OERE B
9699 |AELVF—IL EEHAE | 2018/12/19| £#IRE 2 5 iR OEEE 2
9699 |FELVA—IL FERFAS | 2018/12/19 | &3tiRE 2 6 iR D EMRIT B
9699 |AmELVF—IL EEHAE | 2018/12/19| £#IR=E 2 7 IR 0ERE 2
9699 |FELVrF—IL ERFAS | 2018/12/19 | &3tiRE 2 8 iR D EMRIT B
9699 |AmELVF—IL EEHAE | 2018/12/19| £#iR=E 2 9 IR 0ERE 2
9699 |FELVF—IL ERFAS | 2018/12/19 | &3tiRE 2 10 iR 0 EMRIT B
9699 |AmELVF—IL EEHAE | 2018/12/19| £#iR=E 2 11 IR 0ERE 2
9704 | 7I—5-1hRERYT4—-FIL—T EERFiaS | 2018/10/09 | &3tiRE 1 1 iR 0 EMRIT B
9746 |TKC EEHAE | 2018/12/21| £#IRE 1 B A0V 2
9746 |TKC ERFAS | 2018/12/21 | &3tiRE 2 EFRICETHEE B
9746 |TKC EEHAE | 2018/12/21| £#IRE 3 1 IR 0ERE 2
9746 |TKC EEE | 2018/12/21| £%tiRE 3 2 IiHEOERE B
9746 |TKC EEHAE | 2018/12/21| £#IRE 3 3 IR 0ERE 2
9746 |TKC EEE | 2018/12/21| £%tiRE 3 4 IiHEOERE B
9746 |TKC EEHAE | 2018/12/21| £#IRE 3 5 IR 0ERE 2
9746 |TKC EEE | 2018/12/21| £%tiR=E 3 6 IiHEOERE B
9746 |TKC RS | 2018/12/21| £IRE 3 7 R 0ERE 2
9746 |TKC ERFAS | 2018/12/21 | &3tiR% 3 8 IR DR =104
9746 |TKC S | 2018/12/21| £#iRE 3 9 IR OEBE =i
9746 |TKC ERFAS | 2018/12/21 | &3tiR% 3 10 IR D RET i34
9746 |TKC S | 2018/12/21| £#iRE 4 1 EEROERE =i
9746 |TKC ERFAS | 2018/12/21 | &3tiE% 5 &% E$REN =&t
9795 |AFVT AL | 2018/12/15| £*iIRE 1 B ALY =i
9795 |AFvT ERFAS | 2018/12/15 | &3tiR% 2 1 IR D RET =104
9795 |RFwT AL | 2018/12/15| £iRE 2 2 R OEBE =i
9795 |AFvT ERFAS | 2018/12/15 | &3tiR% 2 3 IR D RET =104
9795 |RFwT AL | 2018/12/15| £iIRE 2 4 R OEBE =i
9795 |AFvT ERFAS | 2018/12/15 | &3tiR% 2 5 IR D RET =104
9795 |RFwT AL | 2018/12/15| £iIRE 2 6 R OEBE =i
9795 |AFvT ERFAS | 2018/12/15 | &3tiR% 2 7 IR DRET =104
9795 |RFwT AL | 2018/12/15| £*iIRE 2 8 IR OEBE =i
9795 |AFvT ERFAS | 2018/12/15 | &3tiR% 2 9 IR D RET =104
9795 |AFVT L | 2018/12/15| £iRE 2 10 IR OEBE =i
9869 |fInEERE% ERFAS | 2018/12/21 | &3tiRE 1 B0V ITA) i34
9869 |fOEEEE EEE | 2018/12/21| £#iRE 2 1 IR OEBE =i
9869 |fnEERE% ERFAS | 2018/12/21 | &3tiRE 2 2 IR D REE Bk
9869 |fOEEEE EEE | 2018/12/21| £#iRE 2 3 R OEBE =i
9869 |fnEERE% ERFAS | 2018/12/21 | &3tiRE 2 4 S D ERRE =104
9869 |fOEEEE EEE | 2018/12/21| £#iRE 2 5 R OEBE =i
9869 |fnEERE% ERFAS | 2018/12/21 | &3tiRE 2 6 IR D REE =104
9869 |fOEEEE EEE | 2018/12/21| £#iIRE 2 7 R OEBE =i
9869 |fInEERE% ERFAS | 2018/12/21 | &3tiRE 2 8 IR D REE =104
9869 |fOEEEE EEE | 2018/12/21| £#iRE 2 9 R OEBE =i
9869 |fnEERE% ERFAS | 2018/12/21 | &3tiRE 2 10 IR D REE =104
9869 |fOEEEE EEE | 2018/12/21| £#IRE 2 11 R OEBE =i
9869 |fnEERE% ERFAS | 2018/12/21 | &3tiRE 3 1 EEROERE =104
9869 |fOEEEE EEE | 2018/12/21| £#IRE 4 BEEEDERBEITEDXZHE =i
9942 |34 2)L ERAL | 2018/11/17| £31tiRE 1 B0V IA) =104
9942  |PaA )L EEE | 2018/11/17| £#iRE 2 ERICETDEE =104
9942 |34 I)L EERS [ 2018/11/17| £3iRE 3 1 S D EEE =104
9942  |PaA )L EEE | 2018/11/17| £#iRE 3 2 miHE OERE =104
9942 |34 ERRS | 2018/11/17 ] £#iIRE 3 3 IR D EEE =104
9942  |PaA )L EEE | 2018/11/17| £#iRE 3 4 miHE OERE =104
9942 |34 ERRS | 2018/11/17 ] £#iIRE 3 5 IR D EEE =104
9942  |PaA )L EEE | 2018/11/17| £#iRE 3 6 miHE OERE =104
9957 |INATFTYIR—ILTAVT R EaRias | 2018/11/27| £3tiRE 1 #RE AR E =104
9957 |INATYIR—ILT1VT R FeBsias | 2018/11/27| £%tiR=E 2 B0 =103
9979 | KFE ERFAE | 2018/11/27| £3tiRE 1 B0V I =104
9979 | KEE EEE | 2018/11/27| £%iRE 2 ERICEHTLEE =104
9979 | KM EELE | 2018/11/27| £%tiR=E 3 1 S D EEE =104
9979 | KEE EEE | 2018/11/27| £*iRE 3 2 IiHE OERE =104
9979 | KFE ERFAE | 2018/11/27| £3tiRE 4 BEZREOEBESTEOXMH =104
9983  |I7—RRUTAYLY EEHE | 2018/11/29 | £%tiRE 1 1 mimE OERBE =104
9983 |77 —ARNITAYLY TEEHAE | 2018/11/29 | £IRE 1 2 iR OEEE 2
9983  |I7—RRUTAYLY EEE | 2018/11/29 | £%tiRE 1 3 mimE OERBE =104
9983 |77 —ARNITAYLY EEHAE | 2018/11/29 | £#IRE 1 4 iR OEEE 2
9983 | I7—RRUTAYLY EEE | 2018/11/29 | £%tiRE 1 5 mimE OERBE =104
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9983 |77 —ARNITAYLY TEEHAE | 2018/11/29 | £IRE 1 6 iR OEEE 2
9983  |I7—RRUTAYLY EEHE | 2018/11/29 | £%tiRE 1 7 miHE OERE B
9983 |77 —ARNITAYLY EEHAE | 2018/11/29 | £#IRE 1 8 iR OEEE 2
9983  |I7—RRUTAYLY EEE | 2018/11/29 | £%tiRE 1 9 miHE OERE B
9983 |77 —ARNITAYLY EEHAE | 2018/11/29 | £IRE 2 1 EEROEMFE =t
9983 | I7—RRUTAYLY EEHE | 2018/11/29 | £%tiRE 2 2 BEERDERET B
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